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import numpy as np
np.__version__

'1.18.5'
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axis 1
12} 3
o
glafs] e
1( 2]} 3 71 819
1D array 2D array

al = np.array([1, 2, 3, 4, 5])

print(at)

print(type(atl))

print(al.shape)

print(at[0], at[1], at[2], a1[3], al[4])
all0] = 4

al[1] =5

al[2] = 6

print(at)

[12345]

<class 'numpy.ndarray'>
(5,)

12345

(456 4 5]

a2 = np.array([ [1, 2, 3], [4, 5, 6], [7, 8, 9] 1)
print(a2)

print(a2.shape)

print(a2[0, 0], a2[1, 1], a2[2, 2])

[[12 3]
[4 5 6]
[7 8 9]]

(3, 3)

159

a3 = np.array([

print(a3)
print(a3.shape)

[[1

12 3]
[4 5 6]
7 8 9]

]
]
]

axis 0

3D array




np.zeros(10)

array([0., 0., 0., 0., 0., 0., 0., 0., 0., 0.])

e ones(): EEQAE1E X7|3}

np.ones((3, 3))

np.eye(3)
array([[1., 0., 0.]
(0., 1., 0.1,
[0., 0., 1.11)

0%



o empty(): 27|2HE|X| A2 HiE Mo

o =7|=p7b GlO{A B E &-SH| 8 N ot S
o Z7|2tE|X| EOMM 7| E O 22| X[ EX5t= 4k

np.empty(10)

array([0., 0., 0., 0., 0., 0., 0., 0., 0., 0.])

o np.zeros_|ike()
o np.ones_like()
o np.full_like()
o np.empty_like()

print(at)
np.zeros_like(al)

[456 4 5]
array([0, 0, 0, 0, 0])

print(a2)
np.ones_|ike(a2)

[[123]
[4 5 6]
[7 8 9]]

array([[1, 1, 1],

(1, 1, 1]
[1, 1

print(a3)
np.full_like(a3, 10)

[[123]
[4 5 6]
[7 8 9]1]
array([[[10, 10, 10]
[10, 10, 1
[10, 10, 10]]
[[10, 10, 10]



[10, 10, 10]]
[[10, 10, 10]
[10, 10, 10],
[10, 10, 10111)
Moo 2 H|E M
e arange(): d HPZ HIE 4/d
np.arange(0, 30, 2)
array([ 0, 2, 4, 6, 8, 10, 12, 14, 16,
e linspace(): HE LHOIM 25 ZtA2| HIE
np. linspace(0, 1, 5)
array([0. , 0.25, 0.5, 0.75, 1. 1)
e logspace(): HE LHOM #5724
np. logspace(0.1, 1, 20)
array([ 1.25892541, 1.40400425, 1.565802 |
2.1719114 , 2.42220294, 2.70133812,
3.74700446, 4.17881006, 4.66037703,
6.46437163, 7.2093272 , 8.04013161,
HEZIO 2 Hi| Y MM
e a4y
seed s WM Z [T A E(seed) X HE
permutation =AlE Q|2 HHEALE ol =< dizl
shuffle 2| AEL}HY =ME F4S
random HESH =0 Hi E A
rand TESEZAN EE FE
randint FO T XA/ T HR|9| = FE
randn BEEHAIH, Wddt 00 B AEE HEE T
binomial Ol EXON HEE FZ
normal BHEZIRAHN B2 =&
beta HIEt2ZOM B2 =&
chisquare IO ES2Z0M BE =&
gamma AOEZM B2 =F

18, 20, 22, 24, 26, 28])

M
o

CRERIAHLZHIE Y-S

1.74624535, 1.94748304,
3.0126409 , 3.35981829,
5.19743987, 5.79639395,
8.9666781 , 10. 1)
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e random.random(): THESE =0 H & Mo

o o

np.random.random((3, 3))

array([[0.6575939 , 0.803762 , 0.23075293],
[0.32144283, 0.52211783, 0.46285086],
[0.33538115, 0.9473045 , 0.34578796]])

e random.randint(): &8 FZto| SHE H0| HIE MM

np.random.randint (0, 10, (3, 3))

array([[3, 7, 2],
[9, 1, 6],
(7, 2, 4]1)

e random.normal () : ‘3 Tt= 2 (normal distribution) & 1 2{ot HHEHH =0 HfH 4o
o Wr=0, EEHX}=1,3x3H|E

np.random.normal (0, 1, (3, 3))

array([[-0.50034912, -0.46117753, -2.12922878],
[ 0.03634214, 0.95389155, -0.53742495],
[-0.19782743, 1.43871253, 0.97251717]])

e random.rand() : @5 % (uniform distribution)S 12{g SHEHSE o HIE M

np.random.rand(3, 3)
array([[0.71117799, 0.13803711, 0.48245251],

[0.30255013, 0.03036577, 0.45992232],
[0.67583728, 0.70792018, 0.00261856]])

e random.randn() : E& H 1t X (standard normal distribution)E 112{ot tHESH =0 HiE o
A
o

np.random.randn(3, 3)

array([[-0.67104357, —0.31466349, 0.42747638],
[ 0.00205832, 0.67304152, -0.85492265],
[ 0.89652484, -1.27892556, 0.0610578 1])

#7 HO|H EfE



Hl0|Ef Efe! 4y

bool_ HO|E 2 XMZt=l 22| (Boolean)2 2 True == False 24 S 7+

int_ 7|2 ‘d4=(Integer) EFY

intc C AN OM ABE|= int 2t Y (ZBE2E int32 &= int64)

intp QI MO AFRE|lE Ha (C AN OA ssize_t 2t SY; YUMO 2 int32 & int6d)
int8 HFO| E (Byte) (-128 ~ 127)

int16 d4= (-32768 ~ 32767)

int32 ‘4= (2147483648 ~ 2147483647)

int64 ‘d4=(-9223372036854775808 ~ 9223372036854775807)

uint8 23 = d+ (0~ 255)

uint16 £ gl= E= (0 ~ 65535)

uint32 235 = (0~ 4294967295)

uint64 25 o= M2 (0 ~ 18446744073709551615)

float16 B A 25 A4 (Half precision float): £ % H|E, 5H|E x|, 10H|E 7t
float32 CHY Y 2.5 A 4T (Single precision float): £ H|E, 8H|E X|%=, 23H| E Tt
float64 HiH Y 25 24 (Double precision float): £3 H|E, 11H|E x|, 52H|E 7%=
float_ floate4 & EOM EH

e

complex6d = =(Complex number), & 72| 32H|E & A+FHOE B
complex128 SA4 F IO 64HIE B A-THOZ HH
complex_ complex128 & EO|A BT

np.zeros(20, dtype=int)

array([0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, O, 0, O, 0, 0, 0, 0, 0, 0])

np.ones((3, 3), dtype=bool)

array([[ True, True, Truel,
[ True, True, Truel,
[ True, True, Truell)

np.ful I ((3, 3), 1.0, dtype=float)

array([[1., 1., 1.1,

SR/ A HIE S

3= 9| HOHH AlZHHS ZOHH A2

y o +9.2¢18 [9.2¢18 BC, 9.2e18 AD]
U +7.6e17 [7.6e17 BC, 7.6e17 AD]
weoF +1.7e17 & [1.7€17 BC, 1.7e17 AD]
D ¢ +2.5e16 d [2.5e16 BC, 2.5e16 AD]



3ac ojoj HTHE AlZHES O AIZHES

h Al +1.0e15 4 [1.0e15BC, 1.0e15 AD]
m 2 +1.7e13 4 [1.7e13 BC, 1.7e13 AD]
s = +29e12 4 [2.9€9 BC, 2.9e9 AD]

ms  HelxE +2.9e9 4 [2.9e6 BC, 2.9e6 AD]

us OO|AEX +209e6 [290301 BC, 294241 AD]
ns  LpzXx +292 A [ 1678 AD, 2262 AD]

ps  OAX +106 & [ 1969 AD, 1970 AD]

fs HEX +2.6 A|ZH [1969 AD, 1970 AD]

as OfEX +92 % [1969 AD, 1970 AD]

date = np.array('2020-01-01', dtype=np.datetime64)
date

array('2020-01-01', dtype='datetime64[D]")

date + np.arange(12)

array(['2020-01-01", '2020-01-02', '2020-01-03', '2020-01-04',
'2020-01-05", '2020-01-06', '2020-01-07', '2020-01-08',
'2020-01-09', '2020-01-10', '2020-01-11', '2020-01-12'],

dtype='datetime64[D]")

datetime = np.datetime64('2020-06-01 12:00")
datetime
numpy . datet ime64('2020-06-01T12:00")
datetime = np.datetime64('2020-06-01 12:00:12.34', 'ns')

datetime

numpy .datet ime64('2020-06-01T12:00: 12.340000000" )

- HiE =2

- b

e
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def array_info(array):
print(array)

print("ndim:", array.ndim)

print("shape:", array.shape)

print("dtype:", array.dtype)
(

print("size:", array.size)



print("itemsize:", array.itemsize)
print("nbytes:", array.nbytes)
print("strides:", array.strides)

array_info(al)

(456 4 5]
ndim: 1
shape: (5,)
dtype: int64
size: 5
itemsize: 8
nbytes: 40

strides: (8,)

array_info(a2)

[[12 3]

[4 5 6]

[7 8 9]]
ndim: 2
shape: (3, 3)
dtype: int64
size: 9
itemsize: 8
nbytes: 72
strides: (24, 8)

array_info(a3)

(01
[4
7

1
[4
[7
ndim: 3

shape: (3, 3, 3)
dtype: int64

size: 27

itemsize: 8

nbytes: 216

strides: (72, 24, 8)

v 28 (Indexing)

print(al)
print(at[0])
print(al[2])



print(a2)

print(a2[0, 0])

print(a2[0, 2])

print(a2[1, 1])
(

print(a2[2, -1])

[[12 3]
[4 5 6]
[7 8 9]]

O 01 W —

print(a3)

print(a3[0, 0
print(a3[1, 1,
print(a3[2, 2,
print(a3[2, -1, -

O O 01 —

v =2t0]|%(Slicing)

o S20|H F2: alstart:stop:step]
o 7|&3t: start=0, stop=ndim, step=1

print(at)
print(a1[0:2])



[0:1)
[:1])
[::2])
[::-1])

print(at
print(at
print(at
print(at
[456 4 5]
[4 5]
[45645]
(4]

[4 6 5]
(5465 4]

print(a2)
print(a2[1])
print(a2[1, 1)
print(a2[:2, :2])
print(a2[1 ::—1])
print(a2[::-1, :-1])
[[12 3]

[4 5 6]

[7 8 9]]

[4 5 6]

[4 5 6]

[[12]

[4 5]]

[[6 5 4]

[9 8 7]]

[[98 7]

[6 5 4]

(32 1]]

=2 215 A (Boolean Indexing)

= 2| (True or False) 2 X| Y

print(at)

= [False, True, True, False, True]
print(atlbi])
bi = [True, False, True, True, False]
print(ailbi])

(456 4 5]

[5 6 5]

[4 6 4]
print(a2)
bi = np.random.randint(0, 2, (3, 3), dtype=bool)
print(bi)

print(a2[bi])



[[12 3]
[4 5 6]
[7 8 9]]

[[ True True Truel
[False False Truel
[ True True Falsel]

[12367 8]

I A| o1 =M (Fancy Indexing)

print(at)

print([al[0], al[2]])

ind = [0, 2]

print(ailind])

ind = np.array([[0, 1],
[2, 0]11)

print(allind])

[456 4 5]
[4, 6]
[4 6]
[[4 5]
[6 411

print(a2)

row = np.array([0, 2])
col = np.array([1, 2])
print(a2[row, col])
print(a2[row, :])
print(a2[:, coll)
print(a2[row, 1])
print(a2[2, col])
print(a2[row, 1:])
print(a2[1:, col])

[[12 3]

[4 5 6]

[7 8 9]]
[2 9]
[[12 3]

[7 8 9]]
[[2 3]

(5 6]

(8 9]]
[2 8]
[8 9]
[[2 3]

(8 9]]
[[5 6]

[8 9]]




ol /1 A
- Hi G 4f & /= /A
v B 4f &
e insert():HIE2| £ X0
o axisE A|"JSHX| o™ 1K}
o TV HIGEZ axisE X
. YEHIY HAQ0| MEL H
print(al)
b1 = np.insert(al, 0, 10)
print(b1)
cl = np.insert(al, 2, 10)
print(c1)
[456 4 5]
[10 4 5 6 4 5]
[4 510 6 4 5]
print(a2)
b2 = np.insert(a2, 1, 10, axis=0)
print(b2)
c2 = np.insert(a2, 1, 10, axis=1)
print(c2)
[[12 3]
[4 5 6]
[7 8 9]]
([ 1 2 3]
[10 10 10]
[ 4 5 6]
[ 7 8 9]]
[[ 110 2 3]
[ 410 5 6]
[ 710 8 9]]
v Hi g ZF =73
o HiEOo| QEldo = MASIY
print(al)
at[0] = 1
al[1] =2
al[2] = 3
print(al)
al[:1] =9
print(at)

i =np.array([1, 3, 4])



alli] =0
print(at)
alli] += 4

print(a

— e —

1)

O O O —=n
A O DN O

print(a2)

a2[o0,
a2[1,
a2[2,

0]

2]

1]

a2[0] = 1
print(a2)
a2[1:, 2] =9
print(a2)

WWWwwoem

I I NN
N O O OO

row = np.array([0, 1])
col = np.array([1, 2])
a2[row, col] =0
print(a2)
[[12 3]
[4 5 6]
[7 8 9]]
[[111]
[4 2 6]
[7 8 3]]
[[111]
[4 2 9]
[7 8 9]]
[[101]
[4 2 0]
[7 8 9]]
- BHS 2k AR
o delete(): HIE 2] & X0 2f AHA|
o axisE A|JSHA| o™ 1XIJ HIE =2
o AtH T HISFZ axisZ X|H
o A HIE HGQIO0| MER HIE Y=t
print(al)
bl = np.delete(al, 1)
print(b1)
[9 43 4 4]

(9 3 4 4]



print(a2)
b2 = np.delete(a2, 1, axis=0)
print(b2)
c2 = np.delete(a2, 1, axis=1)
print(c2)

[

[

[[1 1]
[4 0]
[7 911

]
]
]
]
1]

~N =~
oo N o
© = © O =

[
[
[
[
[

o D|AE XY 2| Bl g2 S2t0|A= SAE0| Oty

print(a2)
print(a2[:2, :2])
a2_sub = a2[:2, :2]
print(a2_sub)
a2_sub[:, 1] =0
print(a2_sub)
print(a2)

[[10 1]
[4 2 0]
[7 8 9]]
[[10]
(4 2]]
[[1 0]
[4 2]]
[[10]
(4 0]]
[[10 1]
[4 0 0]
[7 8 9]]

* copy(): B EO|Lt St BHE Lh2f £k BAIH 22 FA

print(a2)

a2_sub_copy = a2[:2, :2].copy()
print(a2_sub_copy)
a2_sub_copy[:, 1] =1
print(a2_sub_copy)

print(a2)
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4 4

0))

print(a2.swapaxes(1,



print(a3)

1))
2))

print(a3.swapaxes(0,
print(a3.swapaxes(1,

—_—— ————— —

v HIE M=)

10)

nl = np.arange(1,

print(nt)

print(ni.reshape(3, 3))



(1234567 89]
[[123]
45 6]
7 8 91]

e newaxis(): M2 & F7}

print(ni)
print(ni[np.newaxis, :5])
print(ni[:5, np.newaxis])

[1234567809]
[[12345]]
[[1]

[2]

[3]

[4]

[5]]

. EER-E:

e HiE &

02
=2

2

n2 = np.random.randint (0, 10, (2, 5))
print(n2)

n2.resize((5, 2))

print(n2)

[[34451]
(625 14]]
[[3 4]
[4 5]
[16]
[2 5]

[14]]

002 KA

n2.resize((5, 5))
print(n2)
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n2.resize((3, 3))
print(n2)

[l
[
[

N O W

4
1
5

YOI

]
]
1]
- B =7}
e append(): HfE 2| E0f Zf =7t
a2 = np.arange(1, 10).reshape(3, 3)
print(a2)

b2 = np.arange(10, 19).reshape(3, 3)
print(b2)

o axis X|HO| Qo™ 1X}& HiE HEZ HAL| O AT
c2 = np.append(a2, b2)
print(c2)
[1 2 3 4 5 6 7 8 910 1112 13 14 15 16 17 18]

e axisE 02 =2 X|H
« shape[0]2 X 2|5t LIH X| shape & 0tOF &

c2 = np.append(a2, b2, axis=0)
print(c2)

[

D WO N D —
\I-P—LCDU‘II\)
o O N0 WO O W

[
[
[
[1
[1
[1

e axisE 12 A&
« shape[1]S X2/ LIHX| shape ZHOtOF Bt



c2 = np.append(a2, b2, axis=1)
print(c2)

[l
[
[

~N A
o U1
O O W
o
D wWo
AN

- HiE HZE

e concatenate(): FEO|LI H{EO| Z[AE

MUl
ro
3
i
Rl
o
o
=

al = np.array([1, 3, 5])
bl = np.array([2, 4, 6])
np.concatenate([al, b1])

array([1, 3, 5, 2, 4, 6])
cl = np.array([7, 8, 9])
np.concatenate([al, b1, c1])

array([1, 3, 5, 2, 4, 6, 7, 8, 9])
a2 = np.array([[1, 2, 3],

(4, 5, 6]])
np.concatenate([a2, a2])

array([[1, 2, 3],
4, 5, 6],
(1, 2, 31,
(4, 5, 6]])

a2 = np.array([[1, 2, 3],
(4, 5, 6]])
np.concatenate([a2, a2], axis=1)

array([[1, 2, 3, ,
(4, 5, 6,

2, 3]
. 5, 611)

N

o
|0

e vstack(): =% AEH(vertical stack), TAtRSZ A

np.vstack([a2, a2])

array([[1, 2, 3],
(4, 5, 6],
(1, 2, 31,
(4, 5, 6]1)

e hstack() : =% AEH(horizontal stack), 2Xt 22 HZA



np.hstack([a2, a2])

array([[1, 2, 3, 1, 2, 3],
4, 5, 6, 4, 5, 6]])

e dstack(): Z'0| 2El(depth stack), 3XIRICZ HZA

np.dstack([a2, a2])

array([[[1, 1],
[2, 2],
(3, 311,

[[4, 4],
(5, 5],
(6, 6111)

o stack(): ME2 XA =2 AHAZA

np.stack([a2, a2])

array([[[1, 2, 3],
(4, 5, 6]],

[[1, 2, 3],
(4, 5, 6]11)

al = np.arange(0, 10)

print(al)

b1, ¢c1 = np.split(at, [5])

print(b1, ct)

b1, c1, di, el, f1 =np.split(al, [2, 4, 6, 8])
print(b1, c1, di, el, f1)

a2 = np.arange(1, 10).reshape((3, 3))
print(a2)
b2, ¢c2 = np.vsplit(a2, [2])



a2 = np.arange(1, 10).reshape((3, 3))

print(a2)

b2, ¢2 = np.hsplit(a2, [2])

print(b2)
print(c2)

[[123]
[4 5 6]
[7 8 9]]
[[12]

[4 5]

[7 8]]
[[3]

(6]

[9]]

e dsplit(): 40| &

-
o
=,

s

3%t

o

oz B

a3 = np.arange(1, 28).reshape((3, 3, 3))

print(a3)

b3, ¢3 = np.dsplit(a3, [2])

print(b3)
print(c3)

(=13

=



v H i AL

—

e NumPyo| Hi & A L2 HIE 3}(vectorized) A2 A

&

o YHIY O Z NumPy2| H-& &t=(universal functions)E Sdlf T+
x A

o i Q20| T3t Hh

ol A S 2oz

al = np.array([1, 2, 3])
print(ai)
print(al + 5)

7| 8
4 || 6
719
10 (| 12
3| 4
4 || 5
51| 6




a2 = np.arange(1,
print(a2)
print(al + a2)

b2 = np.array(|[
print(b2)
print(al + b2)

~N B~ —
~ N
o O N
o W
O NPHs OO We——
N O o,

,_, ,_,
— e e e — — O —

HE e

oot

A
+ 29

10) .reshape(3, 3)

1, 2, 3]).reshape(3,

>
0z

+ np.add

3
o=

= np.subtract

Il

rn
00k
ojo

R

= np.negative

g
0z

* np.multiply

-

HrooMr

0z

/ np.divide

I
nx
-
e el
I

np.floor_divide

re
e

np . power X

re
=

% np.mod

al = np.arange(1, 10)
print(al)
print(al + 1)

print(np. add( , 10))

print(at
prlnt n

(
(
(at
(
(
print(n
print(a
print(n
print(a
print(n
print(a
print(n
(
(np

p.
-al
p.
1
p.
1
p.
1
p.
prlnt al

2)
subtract( 1,
1)
negative(al))
*x 2)
multiply(at,
/ 2)
divide(at,
/] 2)
floor_divide(at,
*x% D)
.power (at,

10))

2))
2))
2))
2))



2))

print(at % 2)
print(np.mod(aft,

1:16666667 0.88888889 1.8

(10015110 1]
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P
b
p
p
or
p
p
p
p
p

1296 117649

256 5
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(023002 184]

1

134217728



a2 = np.arange(1, 10).reshape(3, 3)
print(a2)

b2 = np.random.randint(1, 10, size=(3, 3))
print(b2)
print(a2 + b2)
print(a2 - b2)
print(a2 * b2)
print(a2 / b2)
print(a2 // b2)
print(a2 ** b2)
print(a2 % b2)

et e e e
[—

fa—

]

—LOJOOU‘IOJ\I\IQOOUCO@OJ

9
15
16
-3
-3
2
18
4

[16 40 5
[63 56 63]]
[[0.16666667 0.4
[1. 0.625
[0.77777778 1.14285714
[[0 0 0]

[100]

[0 1 1]]

([ 1 32 729]
[ 256 390625 10077696]
(40353607 2097152 4782969]]

[[12 3]

[0 5 6]
[7 1 2]]

]
]
16]
]
]
1]
]
]
]
6

]
666667 ]

0.5
0.6
1.28571429] ]

6
8

v H {7t 2= (Absolute Function)

3

|:|0|-

e absolute, abs, fabs: L &=l HCHZt et

al = np.random.randint (=10, 10, size=5)
print(at)

print(np.absolute(at))
print(np.abs(at))

[ 3 2 2-10 -3]
[3 2 210 3]
[3 2 210 3]

v He/Med g



v

print(al)
print(np.square(at))
print(np.sqrt(at))

e square, sart: A&, Ha2 &

3 -2 2-10 -8]

[

[ 9 4 4100
[1.73205081
/

usr/local/lib/python3.6/dist—packages/ipykernel_launcher .py:3: RuntimeWarning:

9]
nan 1.41421356

nan

nan]

invalid value

This is separate from the ipykernel package so we can avoid doing imports until

X|==2t 21 &4 (Exponential and Log Function)

al = np.random.randint(1,

print(at)
print(np.exp(at))
print(np.exp2(at))
print(np.power(atl, 2))

(6 38 14]

[4.03428793e+02 2.00855369e+01 2.98095799e+03 2.71828183e+00

5.45981500e+01]

10, size=5)

[ 64. 8.256. 2. 16.]

(36 964 1 16]

print(at)
print(np.log(at))
print(np.log2(at))
print(np.log10(at))

(6 38 14]
[1.79175947 1.0986

1229 2.07944154 0.

[2.5849625 1.5849625 3. 0.
[0.77815125 0.47712125 0.90308999 0.

252} gh==(Trigonometrical Function)

SRS uy
np.sin QA H AR
np.cos 24 8 A
np. tan QA HEHNE
np.arcsin 24 9 0f3 AtQl
np.arccos 24 B O3 AALQI
np.arctan Q4 ¥ O3 EtHE
np.arctan?2 824 O3 EIHE
np.sinh QA HSIo|HEE AR
np.cosh 24 H50|HZE FALS

1.38629436]

]
0.60205999]



e EL:

np. tanh QA HSo|EE BN E
np.arcsinh 4 4 SL0|I{ = 2| 03 A}QI
np.arccosh R4 # S10|HZ2] 0F3 A AR
np.arctanh 22 9 SIO|HEE! o3 EHIE
np.deg2rad 24 H ZF= 0| A 2tC|OF HEt
np.rad2deg LA B 2{C|QHO|A 2t HZt
np.hypot R FIEE A2 At

t = np.linspace(0, np.pi, 3)

print

(t)

print(np.sin(t))
(np.cos(t))
print(np.tan(t))

print

x = [
print
print
print
print

v 84 g

[0.

1.57079633 3.14159265]

[0.0000000e+00 1.0000000e+00 1.2246468e-16]
[ 1.000000et00 6.123234e—-17 —1.000000e+00]
[ 0.00000000e+00 1.6331239%4e+16 —1.22464680e—16]

-1, 0, 1]

X)

—~ o~ o~ —

’

_L_L

np.arcsin(x))
np.arccos(x))
np.arctan(x))

1]

[-

[- 57079633 0. 1.57079633]
[3.14159265 1.57079633 0. ]
[-0.78539816 0. 0.78539816]

(Aggregate Functions)

g NaN QtH B E a9
np.sum np.nansum 40| B A At
np .. cumsum np.nancumsum A9 &8 gt
np.diff N/A QAO| K&
np.prod np.nanprod QAO| & AHAt
np.. cumpr od np.nancumprod QA X &
np.dot N/A & =(dot product)
np.matmul N/A HH =
np.tensordot  N/A &l A & (tensor product)
np.cross N/A Hl B & (cross product)
np. inner N/A L& (inner product)
np.outer N/A 2| & (outer product)
np.mean np.nanmean Q40| Ha At



v cumsum():

iy NaN HH 2E
np.std np.nanstd
np.var np.nanvar
np.min np.nanmin
np . max np . nanmax
np.argmin np.nanargmin
np.argmax np.nanargmax
np.median np.nanmedian

np.percentile  np.nanpercentile

np.any N/A
np.all N/A
v sum(): & ALt

a2 = np.random.randint(1, 10, size=(3, 3))

print(a2)
print(a2.sum(), np.sum(a2))

(
print(a2.sum(axis=0), np.sum(a2, axis=0))
(

print(a2.sum(axis=1),

[[7 7 3]
[5 4 6]
[151]]
39 39
[13 16 10] [13 16 10]
(17 15 7] [17 15 7]

L oy
FHet

At

print(a2)
print(np.cumsum(a2))
print(np.cumsum(a2, axis=0))
print(np.cumsum(a2, axis=1))

[[7 7 3]
[5 4 6]
[151]]

]
1
1

1

1
1 ]
[

— 01N w N~

3
9
10
17
15
7

DO DO — N

]

v diff(): X2 AL

np.sum(a2, axis=1))

[ 7 14 17 22 26 32 33 38 39]
[



print(a2)
print(np.diff(a2))
print(np.diff(a2, axis=0))
print(np.diff(a2, axis=1))

— o~
oA~

—

et e e
[a—

—
L M B e e B e B e B e B B s B B

I
AR 2 WARANA 2 OOW
S

—

|
A O PA~AMNPM 2O

[a—

prod(): & Al

print(a2)
print(np.prod(a2))
print(np.prod(a2, axis=0))
print(np.prod(a2, axis=1))

[[7 7 3]

[5 4 6]

[15 1]]
88200

[ 35 140 18]
[147 120 5]

cumprod(): =& & A4

print(a2)
print(np.cumprod(a2))
print(np.cumprod(a?2, axis=0))
print(np.cumprod(a2, axis=1))

7 49 147 735 2940 17640 17640 88200 88200]

.
5 28 18]
5 140 18]]
7 49 147]
5 20 120]
1 5 5]]



print(a2)

b2 = np.ones_|ike(a2)
print(b2)
print(np.dot(a2, b2))
print(np.matmul (a2, b2))

— = OB~

o
NO NN N~ W

[[17 1

_

v tensordot(): HIAZ ALt

print(a2)

print(b2)

print(np.tensordot(a2, b2))
print(np.tensordot(a2, b2, axes=0))
print(np.tensordot(a2, b2, axes=1))

[

]
]
]
]
]
]

[a—
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v mean(): Eo A4t

print(a2)
print(np.mean(a2))
print(np.mean(a2, axis=0))
print(np.mean(a2, axis=1))

[7 7 3]

(5 4 6]

[15 1]]

4.333333333333333

[4.33333333 5.33333333 3.33333333]
[5.66666667 5. 2.33333333]

[

v std(): & EAL AL

print(a2)
print(np.std(a2))
print(np.std(a2, axis=0))
print(np.std(a2, axis=1))

[[7 7 3]
54 6]
[15 1]]

2.160246899469287

[2.49443826 1.24721913 2.05480467]

[1.88561808 0.81649658 1.88561808]

—

v var() =1 |'7:”A|_|'

print(a2)
print(np.var(a2))
print(np.var(a2, axis=0))
print(np.var(a2, axis=1))

[[7 7 3]
5 4 6]
[15 1]]
4. 666666666666667
[6.22000000 1.55555556 4.22020022]
[3.55555556 0.66666667 3.55555556]

—

print(a2)
print(np.min(a2))
print(np.min(a2, axis=0))
print(np.min(a2, axis=1))



v max(): Z|CHgf

print(a2)
print(np.max(a2))
print(np.max(a2, axis=0))
print(np.max(a2, axis=1))

print(a2)
print(np.argmin(a2))
print(np.argmin(a2, axis=0))
print(np.argmin(a2, axis=1))

v argmax(): Z|CHf QI8 A

print(a2)
print(np.argmax(a2))
print(np.argmax(a2, axis=0))
print(np.argmax(a2, axis=1))

[[7
[5
[1

SN
Lo w

]
]
]
0

[0 0 1]
[0 2 1]



v median(): 34t

print(a2)

print(np.median(a2))

print(
(

np.median(a2, axis=0))

print(np.median(a2, axis=1))

v percentile(): B2 2|

A
T

Percentiles for different methods and data: [0 1 2 3]

Estimated percentile value

linear

inverted_cdf
averaged_inverted_cdf
closest_observation 5
interpolated_inverted_cdf £
hazen

weibull
median_unbiased
narmal_unbiased

#

r':"/' -
/ﬁ?ﬂ P
R L AP

a0

al = np.array([0, 1,
print(at)

print(np.percentile(
print(np.percentile(
print(np.percentile(
print(np.percentile(
print(np.percentile(

20 B0
Percentile

2, 3])

, [0, 20, 40, 60, 80,
, [0, 20, 40, 60, 80,
, [0, 20, 40, 60, 80,
, [0, 20, 40, 60, 80,

at
al
al
at
at, [0, 20, 40, 60, 80,

T
a0 100

100], interpolation='linear'))
100], interpolation="higher'))
100], interpolation="'lower'))
100], interpolation='nearest'))
100], interpolation='midpoint'))



v

a2 = np.array([[False, False, False],
[False, True, True],
[False, True, Truell)

print(a2)

print(np.any(a2))

print(np.any(a2, axis=0))

print(np.any(a2, axis=1))

[[False False False]
[False True True]
[False True Truell

True

[False True Truel

[False True True]

all()

a2 = np.array([[False, False, Truel,
[True, True, True],
[False, True, Truell)

print(a2)

print(np.all(a2))

print(np.all(a2, axis=0))

print(np.all(a2, axis=1))

[[False False Truel]
[ True True Truel
[False True Truel]

False

[False False True]

[False True False]

H|W A AH(Comparison Operators)

ARt HmHE S
== np.equal
= np.not_equal
< np. less
<= np. less_equal
> np.greater
>= np.greater_equal

al = np.arange(1, 10)

print(at)

print(al == 5)
print(al !=5)
print(at < 5)
print(al <= 5)
print(al > 5)
print(atl >= 5)



(1234567 89]

[False False False False True False
[ True True True True False True
[ True True True True False False
[ True True True True True False
[False False False False False True
[False False False False True True

a2 = np.arange(1, 10).reshape(3, 3)
print(a2)

print(np.sum(a2))
print(np.count_nonzero(a2 > 5))

(

(

(
print(np.sum(a2 > 5, axis=0))
print(np.sum(a2 > 5, axis=1))
print(np.any(
print(np.any(a2 > 5, axis=0))
print(np.any(a2 > 5, axis=1))

( (a2 > 5))
print(np.all(a2 > 5, axis=0))
print(np.all(a2 > 5, axis=1))

[ True True Truel
[False True Truel
False

[False False False]
[False False True]

False False False
True True True
False False False
False False False
True True True
True True True

— e e e e

Hln HEg e 49
np. isclose B FI47t (z%1e+02)% W 2/ 2 747H2 T True, OtL| H False
np.isinf HY 20| infO| ™ True, OtL| ™ False

np.isfinite HY 0| inf, nanO| ™ False, OtL|H True

np. isnan HY = 0| nanO| ™ True, OFL| ™ False

al = np.array([1, 2, 3, 4, 5])

print(al)
bl = np.array([1, 2, 3, 3, 4])
print(b1)
print(np.isclose(at, bt))
[12345]
[12334]

[ True True True False False]



al = np.array([np.NaN, 2, np.Inf, 4, np.NINF])
print(at)

print(np.isnan(al))

print(np.isinf(at))

print(np.isfinite(al))

[ nan 2. inf 4. -infl]

[ True False False False False]
[False False True False True]
[False True False True False]

& np.bitwise_and
| np.bitwise_or
np.bitwise_xor

= np.bitwise_not

a2 = np.arange(1, 10).reshape(3, 3)
print(a2)

print((a2 > 5) & (a2 < 8))
print(a2[((a2 > 5) & (a2 < 8))1])

print((a2 > 5) | (a2 < 8))
print(a2[((a2 > 5) | (a2 < 8))])

print((a2 > 5) ~ (a2 < 8))
print(a2[((a2 > 5) ~ (a2 < 8))])

print(~(a2 > 5))
print(a2[(~(a2 > 5))])

[[12 3]
[4 5 6]
[7 8 9]]

[[False False False]
[False False True]
[ True False False]]

(6 7]

[[ True True True]
[ True True True]
[ True True True]]

(1234567 89]

[[ True True True]
[ True True False]
[False True Truel]

[1234589]

[[ True True True]
[ True True False]
[False False False]]

[12345]



v B X

print
print
print
print
print
print
print

o =

al = np.random.randint(1,
(al)
(np.sort(atl))
(at)
(np.argsort(al))
(at)
(al.sort())
(at)
(833869356 6]
[3335666889]
(833869356 6]
(12674890 35]
(833869356 6]
None

[3335666889]

a2 = np.random.randint (1,

print
print
print

<
il
HI

(a2)
(np.sort(a2, axis=0))
(np.sort(a2, axis=1))

—

—
[a—

fa—

—
L B W B e B e B e B e e B |

— N O © O N N O oo
W WO WO WwwWwo
~NO O OoON = =N

[——

ox
e

10, size=10)

10, size=(3, 3))

* partition(): HY O A k7H2| &2 gfS Hhet

print

al = np.random.randint (1,
(al)
(np.partition(atl, 3))

print

(352943295 8]
(223345995 8]

a2 = np.random.randint (1,
print(a2)
print(np.partition(a2, 3))
(np.partition(a2, 3, axis=0))
print(np.partition(a2, 3, axis=1))

print

10, size=10)

10, size=(5, 5))



[[1288 2]
[95 13 2]
[5392 1]
(2627 4]
(522 46]]
[[12288]
[12359]
[2 135 9]
[22467]
[42256]]
[[2 223 1]
[12222]
[53142]
[6587 4]
[96986]]
[[12288]
[12359]
[213509]
[22467]
[42256]]
ol=
v HH % H= E—:||
g A9 oY 7
np.save() NumPy i € Z4H| 170 E Thoff & Ol LA 2
np.savez() NumPy H{ @ 24X o{2{7H & Tt ol & Hio|H 2|
np. load() NumPy B € MZ D22 H 2K 22 Hio|LH2|
np.loadtxt() HAE OIAZEEH HIE 2Y HAE
np.savetxt() EIAE A0 NumPy B € 21K & & HAE

a2 = np.random.randint(1, 10, size=(5, 5))
print(a2)

np.save('a", a2)

[

N — ~ 0
N OO © N
O~ @ ~ N

[
[
[
[
[

o1 o © O1 —
OO0 N — O

a.npy sample_data

b2 = np.random.randint(1, 10, size=(5, 5))
print(b2)
np.savez('ab", a2, b2)

[ ]

]

[
[
[ ]

o1 N W
ISEENGYN
D ovon
~N ~N o
— =N



O —
(G2 lNe>]
~ O

I'ls

ab.npz a.npy sample_data

npy = np.load("a.npy")
print(npy)

npz = np.load("ab.npz")
print(npz.files)
print(npz['arr_0'])
print(npz['arr_1'])

_‘
-
=
-

|
—

—

GO oo =N ~O
N0 N NOoIhNd o OO -

ARANOIN WOl O OO — ©
— A NO NN

O =N BN OTOTN — O

[—

print(a2)
np.savetxt("a.csv", a2, delimiter=',")

[

oo o=
N — N o
N OGO N
O~ O~ N

]
]
]
]
]

OO0 N — O

]

ab.npz a.csv a.npy sample_data

lcat a.csv

1.000000000000000000e+00, 5.000000000000000000e+00, 4 . 000000000000000000e+00, 2. 000000000000000C
5.000000000000000000e+00, 1.000000000000000000e+00, 8.000000000000000000e+00, 9. 000000000000000C
9.000000000000000000e+00, 7.000000000000000000e+00, 7.000000000000000000e+00, 5. 000000000000000C
6.000000000000000000e+00, 5.000000000000000000e+00, 1.000000000000000000e+00, 6.000000000000000C
5.000000000000000000e+00, 5.000000000000000000e+00, 2.000000000000000000e+00, 2. 000000000000000C



csv = np.loadtxt("a.csv", delimiter=",")

print(csv)
[[1. 5. 4. 2. 2.]
[5. 1. 8. 9. 7.]
[9. 7. 7. 5. 8.]
[6. 5. 1. 6. 7.]
[5.5.2.2.5.1]
print(b2)
np.savetxt("b.csv", b2, delimiter=",", fmt='%.2e', header='c1, c2, ¢3, c4, c5')
[[83255 2]
2457 1]
5227 1]
(4166 4]
(4957 1]]
lcat b.csv

# cl1, c2, ¢c3, c4, ¢c5
3.00e+00,2.00e+00,5.00e+00,5.00e+00, 2.00e+00
2.00e+00,4.00e+00,5.00e+00,7.00e+00, 1.00e+00
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